
 



Secondorder linear differential equations with
constant coefficients nonhomogeneous

Recalli the equations have the form
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solutions look like
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EP 1 sole complementaryequation

STEP 2 Method of undetermined
coefficients

first use theformof ft together
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complementary to make a
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find sp yp plug in to original
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WARNING e is a solution



to the couplecentury equation
If we use it ve will end
with 0 on the left side
of our equation insteadoffe
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remember our goal istofind the valuesof theconstantsA
and B suchthat theleftside equals the rightside
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